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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

S086/Xf8

SECTION - A
Why is the refractive index of atmosphere different at different altitudes ?
Name the functional group present in propanal (C3HO)
Which of the following in a food chain will have maximum concentration of harmful
chemicals in its body ?
Small fish, Zooplankton, Bird, Phytoplankton

Why is ozone layer getting depleted at the higher level of the atmosphere ?

A boy uses spectacles of focal length —60 cm. Name the defect of vision he is suffering
from. Which lens is used for the correction of this defect ? Compute the power of this
lens.

One portion of a convex lens is covered as shown, will the lens produce a complete
image of the object ? Describe in brief the characteristics of the image formed.

State in brief the functions of following parts of human eye :
(a) Iris (b) Cornea (c) Ciliary Muscles (d) Pupil

Why should coal and petroleum be used judiciously ? What ill effects can be caused if
they are used non - judiciously ?

(a) State Modern Periodic Law.
(b) Elements A, B, C and D have atomic number 1, 8, 11 and 19 respectively.
Choose the odd element and give reason for your answer.

Write the trend of atomic size and metallic character along a group and a period in the
modern periodic table.

Mention any two reasons for which environmentalist protested against raising height
of the ‘Sardar Sarovar Dam’ on river Narmada.

(a) What is the site of implantation and development of young one in human
female ?
(b) Mention two advantages of using mechanical barriers during sexual act.

A2/24/A1 2




13. (a)

14. (a)

Leaves of Bryophyllum fallen on the ground produce new plants where as the
leaves of Jasmine do not. Why ?

Write two points of difference between asexual and sexual reproduction.

State Snell’s Law.

Write any two important characteristics of image formed by a convex mirror.
Why do convex mirrors preferred as rear view mirrors in vehicles ?

15. A beam of white light falling on a glass prism gets split up into seven colours. A
student makes the statement

(@)

(b)
(©)

16. (a)

17. (a)

S086/X5'A

The colour at positions marked 1 and 3 are similar to the colour of “turmeric” and
the colour of ‘Chilly powder” respectively. Is the above statement correct or
incorrect ? Justify.

Which two positions correspond to the colour of solution of copper sulphate and
signal used to move the vehicles.

Light of colour of chilly powder bends the most while the light of colour of brinjal
bends the least. Is the statement correct ? Justify.

Screen
White Light A
—r / ? > 1
L 2
L 3
L 4
L5
L6
L7

Consider two pairs of medium pair A(1 & 2), pair B(3 & 4). With the help of
table point out in which medium light speeds up as it moves in pair A and in pair
B respectively.

Serial Number 1 2 3 4
Medium Water |Benzene |Turpentine| Alcohol
Refraction Index 1.33 1.50 1.47 1.36

Find refractive index of benzene with respect to water.

Soaps can not be used with hard water. Why ?
Give the chemical composition of detergents.

Give one advantage of detergents over soaps.
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18. The position of four elements A, B, C and D in the periodic table are shown below.

Group I Group 17
B
D
A C

(a) Name most electronegative element.
b) Name most reactive metal.
c) State whether B is a metal or a non metal.

(

(

(d)  Which one of the given elements is expected to have largest atomic radius ?
() How many electrons are present in the outer most shell of elements B and C ?
(

f)  What will be the nature of the bond formed between D and B ?

19. What is meant by pollination ? List its two types. State any two agents which help in
pollination.

20. Explain how the sex of a new born child is genetically determined in human beings ?

21. In Pea plant round seed is dominant over the wrinkled. If a cross is carried between
these two plants, give answer to the following questions.

(a) Mention the genes for the traits of parents.
(b) State the trait of F; hybrids.

(c)  Write the ratio of F, progeny obtained from this cross. What is the name of the
cross ?

22. (a) State the term given to the structures shown in figures given below ?

(b)  State the evolutionary evidence obtained from such structures ?

Frog  Lizard Bird Human

Why are traits acquired during the life time of an individual not inherited ?

—
(@)
~

086/X/5'A2/24/A1 4




23.

24.

25.

A student focused the image of a candle flame on a white screen using a convex lens.

He noted down the position of the candle, screen and the lens as under

(i) Position of Candle = 12.6 cm

(i) Position of Convex Lens = 51.8 cm

(iii) Position of Screen = 91.0 cm

(a) Calculate the focal length of the lens.

(b) Where will the image be formed if he shifts the candle towards the lens at a
position of 32.2 cm ?

(c)  What will be the nature of the image formed if he further shifts the candle towards
the lens ?

(d) Draw aray diagram to show the formation of the image in case (c) as said above.

OR

(@) An object of size 7.6 cm is placed at 24 cm in front of a concave mirror of focal
length 16 cm. At what distance from the mirror should a screen be placed, so
that a sharp focused image can be obtained ? Find the size and the nature of the
image.

(b) The diagram given below shows an object O and its image I. Copy the diagram
and draw suitable ray to locate the lens and its focus. Name of the type of lens
used in this case.

@)

A

p—

(a) An organic compound A is liquid at room temperature. It is also a good solvent
and has the molecular formula C,HO. A on oxidation gives compound B which
gives effervescence with sodium hydrogen carbonate. A reacts with B in the
presence of conc. sulphuric acid to give another compound C, Which has a
pleasant smell. Identify A and C. Also write the chemical equations for the
reactions involved in the formation of B and C.

(b) Draw the structures of benzene C;H, and cyclohexane C; Hy»,.

(c)  What is the difference between vegetable oil and animal fat ?

OR
(a) Complete and balance the following reactions :-
(i) CH;COOH + Na,CO; - + +
(i) C,H;OH + Na - +
(i) CH, + Cl, rHiRlisht +

(b) What are structural isomers ? Draw the possible structural isomers for butane.

Draw a neat diagram of human male reproductive system and label on it the following
parts :

(i) Prostate gland
(i) Seminal vesicle
(iii) Testis
State the function of testis.
OR
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26.

27.

28.

(a) Draw aneat diagram to show fertilization in a flower and label on it the following
parts :

(i) Stigma

(ii) Pollen tube

(iii) Ovary

State the function of pollen tube.

(b) List in tabular form any two differences between a male gamate and a female
gamet.

SECTION - B

Amit determines the focal length of a device X by focussing the image of a well
illuminated tower on the screen positioned in the adjoining figure.

X
¥

Screen

The device X is
(a) Plane mirror (b) Convex mirror
(c) Concave mirror (d) Convex lens

Suppose you have to suggest a best possible method of determining the focal length of
a concave mirror by focussing the image of a distant object on a screen to your friend
you would suggest him to -

(a) hold the mirror in hand and keep the screen in a stand kept behind the mirror.

(b) hold the mirror in a rigid stand and hold the screen in hand with the screen in
front of the mirror.

(c) keep both the mirror and the screen in rigid stands with the screen put behind
the mirror.

(d) keep both the mirror and the screen in suitable stands with the screen put in
front of the mirror.

Given below one four steps (may not be in proper sequence) which are generally followed
by students while determining the focal length of a given convex lens by focussing a
sharp image of a well illuminated distant object.

() Adjust the position of the lens to form a sharp image.

(II)  Select a suitable distant object.

(III)  Hold the lens between the object and the screen with its face parallel to the screen.
(IV) Measure the distance between the lens and the screen.

The correct sequence of these steps is

(@) (@), (1), (1D, (IV) (b) (1), (11), (1), (IV)

(c) (), (1), (1), (IV) (d) (), (1), @), IV)

= 086/X/5A2/24/A1 6




29.

30.

31.

32.

In an experiment to determine the focal length of a convex lens, a student obtained a
sharp inverted image of a distant tree on the screen behind the lens. She then removed
the screen and looked through the lens in the direction of the object. She will see

(a) Aninverted image of the tree at the focus of the lens.
(b) No image as the screen has been removed
(©)

(d) An erect image of the tree on the lens.

A blurred image on the wall of the laboratory.

In an experiment to trace the path of a ray of light passing through a rectangular glass
slab, four students set up their experiments as given below. The set up in which best
result will be obtained is

%

@ I (b) I (c) TI d 1V

Zinc granules are placed in each of the four solutions A, B, C and D as shown, change
in colour would be observed in

A B C D
N N N N
N N N N

Aluminium Zinc Copper Ferrous
sulphate sulphate sulphate sulphate
solution solution solution solution
(@) Aand B (b) Cand D () AandC (d Band D

When the stopper of a bottle containing a colourless liquid was opened, the bottle gave
out a smell like that of Vinegar. What is the name of the liquid in the bottle ?

(a) Saturated solution of sodium bicarbonate
(b)
(©)

A concentrated solution of sodium hydroxide

Acetic acid

(d) Hydrochloric acid

9086/X/5'A2/24/A1 ,




33.

34.

35.

36.

Rohit, Raman, Rahul and Aman performed experiments of acetic acid with Sodium
Carbonate (I), Sodium Hydroxide (II), Sodium hydrogen carbonate (III) and Sodium
Chloride (IV) separately. Each one brought burning candle near the mouth of the test
tubes. The candle would not be extinguished near the mouth of which test tubes -

T~

g/
/
/

.| Acetic acid .| Acetic acid | Aceticacid | [ pokc acid
[ ] 1 ] EMI“]:H 1 5:“;' :
Sodium Sodinm hydrogen s
carbonate hydroxide carbonate chloride
| Il m v
@ (1) and (IV) (b) (1) and (III)
(c)  (II) and (III) (d) () and (IV)

A strip of copper was placed in a beaker containing zinc sulphate solution. On observing
the system after about two hours it was noticed that the

(a) colour of the solution become blue

(b) copper strip became thicker

(c) copper strip became thinner

(d) copper strip remained as it was

10 mL of ethanoic acid was taken in two test tubes I and II each. Blue and Red litmus
papers were dipped into test tube I and solid sodium hydrogen carbonate was added
to test tube II.

AN <l

] ~——1
Litmus > ]
paper g g g § § §§— Ethanoic

S SEEEE IR
Etbanom z E@L Sodium hydrogen
acid

carbonate

) (ID

The following observations were reported :

(A) Red litmus turned blue in I and no change was observed in II.

(B) Blue litmus turned red in I and brisk effervescence was observed in II.

(C) Red litmus turned blue in I and a gas of odour like vinegar evolved in II.

(D) Blue litmus turned red in I and a gas which supports combustion evolved in II.
Which observation correctly represents the characteristics of ethanoic acid ?

(@ A (b)y B () C (d D

Select the INCORRECT statement about budding.

(@) A bud always arises from a particular region on a parent body.

(b) A bud may arise from any part of the parent cell.

(c) Before detaching from the parent body a bud may form another bud.

(d) A bud may separate from the parent body and develops into a new individual.




37.

38.

39.

40.

41.

The following are the sketches made by some students. The sketch not illustrative of

budding in yeast is :
&
A £20 o &
&%5% o
(B) ©)

(D)
(b) B () C d D

At the end of the experiment “To determine the percentage of water absorbed by raisins
the raisins are wiped just before weighing using

(@)  hot air blower (b)  dry cotton wool

(c) filter paper (d) woollen cloth

In the figure of budding in Yeast given below, structures A, B, C and D should be
labeled respectively as :

A
B
S O
D
(a) nucleus of bud, bud, yeast, nucleus of yeast
(b) dividing nucleus of bud, bud, yeast, nucleus of yeast
(c) nucleus of bud, bud, yeast, dividing nucleus
(d) dividing nucleus of yeast, yeast, bud, nucleus of bud.

Given below are the stages of binary fission in Amoeba. Which one out of the following
would you select as the correct sequences of these stages ?

34D

D
B

[s5)

(a)

A,
(c) B

B, C, D (b) D,
, D C

4 IA'
A d) C B

C
A, D,

~
~
~

A Student soaked raisins in water in two petridishes A and B. He kept petridish A at
30°C and petridish B at 60°C.

After about 2 hours, he would find that the percentage of water absorbed by raisins in
A and B is

(a) the same (b) morein A and less in B
(c) morein B and less in A (d) exactly twice as much in B as in A.
-00o0-
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e 9§ Stk ugdl foraifieli § Ster ot eifafiead a9 gerl Sl & 2
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(C) frex Tm 4 (D) S FIZ Y
(@ A (b) B () C (d D
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